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Section 1: Matrix arithmetic 
 

Exercise 
 

1. Work out: 

(i) 
1 2 2

3 0 1

  
  
−  

 (ii) 
4 2 1 5

1 3 0 2

  
  
− −  

 

(iii) 
4 1 2

5 2 3

  
  

− −  
 (iv) 

2 5 3 1

1 4 2 1

− −  
  
− −  

 

(v) 
6 5 1

4 3 2

  
  

−  
 (vi) 

3 0 2 1

4 1 4 0

  
  

− −  
 

(vii) 
8 6 1

3 2 4

− −  
  

− −  
 (viii) 

0 5 2 4

3 2 1 3

−  
  

−  
 

 

2. If A = 








−12

01
 and B = 







−

03

12
, find 

(i) 5A 

(ii) -2B 

(iii) AB 

(iv) BA  

 

3. If A = 








2

13

x
 and B = 









y4

26
 find the values of x and y given that AB = BA. 

 

4. If P = 
3

2

a

b

 
 
 

 and Q = 
2

1

c

d

 
 
− 

 find the values of a, b, c and d given that PQ = I. 

 

5. 











 +
=

31

031
A  












 −
=

31

131
B  

(i)  Work out AB. 

(ii)  Find a matrix C such that AC consists of four non-zero whole numbers. 

 

6. 







=

01

10
M  

(i) Work out M2. 

MMM
23 = , MMM

34 =  etc 

(ii) Work out M3. 

(iii) Write down, with reasoning, M10. 

 

 


